K SIS
n.ear?.‘—’:fg

Addition - missing addend (sums up to 20)

Grade 2 Addition Worksheet

What number should be added to the first number to make the answer?

1)6+_:8 2)1+_:1

35+ =19 41+ =1
5+ =5 5+ =11
N2+ =3 1+ =17
9)3+_:10 10)3+_:19
W4+ =14 122 + =

13) 7 + =13 14) 2 +

15) 7 + = 20 16) 6 +

17) 3 + = 18 18) 2 +

19) 4 + = 15 200 6 +
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Addition - missing addend (sums up to 20)

Grade 2 Addition Worksheet

What number should be added to the first number to make the answer?

D6+ 2=28 221+0=1
95+ 14 =19 “41+10=1
5+0=5 5+ 6 =11
n2+1=3 & 1+ 16 = 17
93+ 7 =10 103 + 16 = 19
14 + 10 = 14 22 +0=2
137 + 6 = 13 42+ 17 =19
157 + 13 = 20 1606 + 7 =13
113 + 15 = 18 182 +3=5
194 + 11 = 15 2006 + 8 =14
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